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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.801 ±Constant = 16.64 

 0.1357 ±Mean     = 135.9 

 0.09592 ±Sigma    = 1.535 
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 1.801 ±Constant = 16.64 

 0.1357 ±Mean     = 135.9 

 0.09592 ±Sigma    = 1.535 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.637 ±Constant = 15.12 

 0.1492 ±Mean     = 135.1 

 0.1055 ±Sigma    = 1.689 
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 1.637 ±Constant = 15.12 

 0.1492 ±Mean     = 135.1 

 0.1055 ±Sigma    = 1.689 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 2.104 ±Constant = 19.43 

 0.1161 ±Mean     = 134.8 

 0.08211 ±Sigma    = 1.314 
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 2.104 ±Constant = 19.43 

 0.1161 ±Mean     = 134.8 

 0.08211 ±Sigma    = 1.314 
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Chip 3 Vt50 at 2.00fC Nent = 128    
  1.99 ±Constant = 18.38 

 0.1228 ±Mean     = 136.1 
 0.0868 ±Sigma    = 1.389 
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  1.99 ±Constant = 18.38 

 0.1228 ±Mean     = 136.1 
 0.0868 ±Sigma    = 1.389 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.728 ±Constant = 15.96 

 0.1414 ±Mean     = 135.6 
 0.09997 ±Sigma    =   1.6 
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 1.728 ±Constant = 15.96 

 0.1414 ±Mean     = 135.6 
 0.09997 ±Sigma    =   1.6 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.566 ±Constant = 14.46 

 0.1561 ±Mean     = 134.9 
 0.1103 ±Sigma    = 1.766 
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 1.566 ±Constant = 14.46 

 0.1561 ±Mean     = 134.9 
 0.1103 ±Sigma    = 1.766 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.399 ±Constant = 22.16 
 0.1018 ±Mean     =  50.2 
 0.07201 ±Sigma    = 1.152 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.064 ±Constant = 19.07 
 0.1184 ±Mean     =    49 

 0.08368 ±Sigma    = 1.339 

Chip 1 Gain at 2.00fC Nent = 128    

 2.064 ±Constant = 19.07 
 0.1184 ±Mean     =    49 

 0.08368 ±Sigma    = 1.339 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.364 ±Constant = 21.84 
 0.1033 ±Mean     =  49.8 
 0.07306 ±Sigma    = 1.169 

Chip 2 Gain at 2.00fC Nent = 128    

 2.364 ±Constant = 21.84 
 0.1033 ±Mean     =  49.8 
 0.07306 ±Sigma    = 1.169 
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Chip 3 Gain at 2.00fC Nent = 128    

 2.838 ±Constant = 26.22 
 0.08607 ±Mean     = 49.53 

 0.06086 ±Sigma    = 0.9738 

Chip 3 Gain at 2.00fC Nent = 128    
 2.838 ±Constant = 26.22 

 0.08607 ±Mean     = 49.53 

 0.06086 ±Sigma    = 0.9738 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.533 ±Constant = 23.39 

 0.09647 ±Mean     = 49.14 

 0.06821 ±Sigma    = 1.091 

Chip 4 Gain at 2.00fC Nent = 128    
 2.533 ±Constant = 23.39 

 0.09647 ±Mean     = 49.14 

 0.06821 ±Sigma    = 1.091 
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Chip 5 Gain at 2.00fC Nent = 128    
 1.975 ±Constant = 18.24 

 0.1237 ±Mean     = 49.66 

 0.08747 ±Sigma    =   1.4 

Chip 5 Gain at 2.00fC Nent = 128    
 1.975 ±Constant = 18.24 

 0.1237 ±Mean     = 49.66 

 0.08747 ±Sigma    =   1.4 
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Chip 0 Extrapolated Offset Nent = 128    
 4.797 ±Constant = 44.31 

 0.163 ±Mean     = 35.06 
 0.1152 ±Sigma    = 1.844 

Chip 0 Extrapolated Offset Nent = 128    
 4.797 ±Constant = 44.31 

 0.163 ±Mean     = 35.06 
 0.1152 ±Sigma    = 1.844 
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Chip 1 Extrapolated Offset Nent = 128    
 4.688 ±Constant = 43.31 

 0.1668 ±Mean     = 36.47 
 0.1179 ±Sigma    = 1.887 

Chip 1 Extrapolated Offset Nent = 128    
 4.688 ±Constant = 43.31 

 0.1668 ±Mean     = 36.47 
 0.1179 ±Sigma    = 1.887 
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Chip 2 Extrapolated Offset Nent = 128    
 4.714 ±Constant = 43.55 

 0.1658 ±Mean     = 34.79 
 0.1173 ±Sigma    = 1.876 
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 4.714 ±Constant = 43.55 

 0.1658 ±Mean     = 34.79 
 0.1173 ±Sigma    = 1.876 
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Chip 3 Extrapolated Offset Nent = 128    

 5.965 ±Constant =  55.1 
 0.1311 ±Mean     = 35.43 
 0.09267 ±Sigma    = 1.483 
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 5.965 ±Constant =  55.1 
 0.1311 ±Mean     = 35.43 
 0.09267 ±Sigma    = 1.483 
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Chip 4 Extrapolated Offset Nent = 128    

  5.81 ±Constant = 53.67 
 0.1346 ±Mean     = 35.68 
 0.09514 ±Sigma    = 1.522 

Chip 4 Extrapolated Offset Nent = 128    

  5.81 ±Constant = 53.67 
 0.1346 ±Mean     = 35.68 
 0.09514 ±Sigma    = 1.522 
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Chip 5 Extrapolated Offset Nent = 128    

 5.176 ±Constant = 47.81 
 0.151 ±Mean     = 34.72 
 0.1068 ±Sigma    = 1.709 

Chip 5 Extrapolated Offset Nent = 128    

 5.176 ±Constant = 47.81 
 0.151 ±Mean     = 34.72 
 0.1068 ±Sigma    = 1.709 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.402 ±Constant = 40.66 

   3.7 ±Mean     =  1759 

 2.616 ±Sigma    = 41.86 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.402 ±Constant = 40.66 

   3.7 ±Mean     =  1759 

 2.616 ±Sigma    = 41.86 
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Chip 1 Input Noise at 2.00fC Nent = 128    
  4.58 ±Constant = 42.31 

 3.556 ±Mean     =  1792 

 2.515 ±Sigma    = 40.24 

Chip 1 Input Noise at 2.00fC Nent = 128    
  4.58 ±Constant = 42.31 

 3.556 ±Mean     =  1792 

 2.515 ±Sigma    = 40.24 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 3.723 ±Constant = 34.39 

 4.375 ±Mean     =  1704 

 3.093 ±Sigma    =  49.5 

Chip 2 Input Noise at 2.00fC Nent = 128    
 3.723 ±Constant = 34.39 

 4.375 ±Mean     =  1704 

 3.093 ±Sigma    =  49.5 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.161 ±Constant = 38.44 
 3.914 ±Mean     =  1709 
 2.767 ±Sigma    = 44.28 
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 4.161 ±Constant = 38.44 
 3.914 ±Mean     =  1709 
 2.767 ±Sigma    = 44.28 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.984 ±Constant = 46.03 
 3.268 ±Mean     =  1710 
 2.311 ±Sigma    = 36.98 

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.984 ±Constant = 46.03 
 3.268 ±Mean     =  1710 
 2.311 ±Sigma    = 36.98 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 3.798 ±Constant = 35.08 
 4.289 ±Mean     =  1714 
 3.032 ±Sigma    = 48.52 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.798 ±Constant = 35.08 
 4.289 ±Mean     =  1714 
 3.032 ±Sigma    = 48.52 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.962 ±Constant = 18.13 

 0.1245 ±Mean     = 135.4 

 0.08803 ±Sigma    = 1.409 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.962 ±Constant = 18.13 

 0.1245 ±Mean     = 135.4 

 0.08803 ±Sigma    = 1.409 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.739 ±Constant = 16.06 

 0.1405 ±Mean     = 135.1 

 0.09936 ±Sigma    =  1.59 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.739 ±Constant = 16.06 

 0.1405 ±Mean     = 135.1 

 0.09936 ±Sigma    =  1.59 

Vt50 (mV)90 100 110 120 130 140 150 160 170 180

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.606 ±Constant = 14.84 

 0.1521 ±Mean     = 136.9 

 0.1075 ±Sigma    = 1.721 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.606 ±Constant = 14.84 

 0.1521 ±Mean     = 136.9 

 0.1075 ±Sigma    = 1.721 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 2.017 ±Constant = 18.63 

 0.1212 ±Mean     = 136.4 
 0.08566 ±Sigma    = 1.371 

Chip 3 Vt50 at 2.00fC Nent = 128    
 2.017 ±Constant = 18.63 

 0.1212 ±Mean     = 136.4 
 0.08566 ±Sigma    = 1.371 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.059 ±Constant = 9.783 

 0.2307 ±Mean     = 140.6 
 0.1631 ±Sigma    =  2.61 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.059 ±Constant = 9.783 

 0.2307 ±Mean     = 140.6 
 0.1631 ±Sigma    =  2.61 
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 1.581 ±Constant = 14.61 

 0.1545 ±Mean     = 136.6 
 0.1092 ±Sigma    = 1.748 
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 1.581 ±Constant = 14.61 

 0.1545 ±Mean     = 136.6 
 0.1092 ±Sigma    = 1.748 
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 2.897 ±Constant = 26.76 
 0.08432 ±Mean     = 50.06 
 0.05962 ±Sigma    = 0.954 
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 2.897 ±Constant = 26.76 
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 0.05962 ±Sigma    = 0.954 
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 2.453 ±Constant = 22.66 
 0.09961 ±Mean     = 49.34 
 0.07043 ±Sigma    = 1.127 
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 2.453 ±Constant = 22.66 
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 2.051 ±Constant = 18.95 
 0.1191 ±Mean     = 50.84 
 0.08421 ±Sigma    = 1.347 
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 2.051 ±Constant = 18.95 
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 0.08421 ±Sigma    = 1.347 
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 2.391 ±Constant = 22.09 

 0.1022 ±Mean     = 50.32 

 0.07224 ±Sigma    = 1.156 
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 2.391 ±Constant = 22.09 

 0.1022 ±Mean     = 50.32 

 0.07224 ±Sigma    = 1.156 
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 2.209 ±Constant =  20.4 
 0.1106 ±Mean     = 54.89 

 0.07821 ±Sigma    = 1.251 
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 2.209 ±Constant =  20.4 
 0.1106 ±Mean     = 54.89 

 0.07821 ±Sigma    = 1.251 
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  2.02 ±Constant = 18.66 

 0.1209 ±Mean     = 50.16 

 0.0855 ±Sigma    = 1.368 
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  2.02 ±Constant = 18.66 

 0.1209 ±Mean     = 50.16 

 0.0855 ±Sigma    = 1.368 
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 5.664 ±Constant = 52.32 

 0.138 ±Mean     = 34.59 
 0.09759 ±Sigma    = 1.562 
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 5.664 ±Constant = 52.32 

 0.138 ±Mean     = 34.59 
 0.09759 ±Sigma    = 1.562 
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 5.444 ±Constant = 50.29 

 0.1436 ±Mean     = 35.38 
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 5.444 ±Constant = 50.29 

 0.1436 ±Mean     = 35.38 
 0.1015 ±Sigma    = 1.625 
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 4.886 ±Constant = 45.13 

  0.16 ±Mean     = 33.79 
 0.1131 ±Sigma    =  1.81 
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 4.886 ±Constant = 45.13 

  0.16 ±Mean     = 33.79 
 0.1131 ±Sigma    =  1.81 
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 4.586 ±Constant = 42.36 
 0.1705 ±Mean     = 34.45 
 0.1205 ±Sigma    = 1.929 
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 4.586 ±Constant = 42.36 
 0.1705 ±Mean     = 34.45 
 0.1205 ±Sigma    = 1.929 
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 3.324 ±Constant = 30.71 
 0.2352 ±Mean     = 29.59 
 0.1663 ±Sigma    = 2.661 
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 3.324 ±Constant = 30.71 
 0.2352 ±Mean     = 29.59 
 0.1663 ±Sigma    = 2.661 
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 4.798 ±Constant = 44.32 
 0.1629 ±Mean     = 34.87 
 0.1152 ±Sigma    = 1.844 
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 4.798 ±Constant = 44.32 
 0.1629 ±Mean     = 34.87 
 0.1152 ±Sigma    = 1.844 
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 5.409 ±Constant = 49.97 

 3.011 ±Mean     =  1720 

 2.129 ±Sigma    = 34.06 
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 5.409 ±Constant = 49.97 

 3.011 ±Mean     =  1720 

 2.129 ±Sigma    = 34.06 
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 4.571 ±Constant = 42.22 

 3.563 ±Mean     =  1713 

  2.52 ±Sigma    = 40.32 
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 4.571 ±Constant = 42.22 

 3.563 ±Mean     =  1713 

  2.52 ±Sigma    = 40.32 
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 3.726 ±Constant = 34.42 

 4.371 ±Mean     =  1687 

  3.09 ±Sigma    = 49.45 
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 3.726 ±Constant = 34.42 

 4.371 ±Mean     =  1687 

  3.09 ±Sigma    = 49.45 
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 3.892 ±Constant = 35.95 
 4.185 ±Mean     =  1722 
 2.959 ±Sigma    = 47.34 
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 3.892 ±Constant = 35.95 
 4.185 ±Mean     =  1722 
 2.959 ±Sigma    = 47.34 
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 3.902 ±Constant = 36.05 
 4.174 ±Mean     =  1689 
 2.951 ±Sigma    = 47.22 
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 3.902 ±Constant = 36.05 
 4.174 ±Mean     =  1689 
 2.951 ±Sigma    = 47.22 
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 3.764 ±Constant = 34.77 
 4.327 ±Mean     =  1686 
 3.059 ±Sigma    = 48.95 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.764 ±Constant = 34.77 
 4.327 ±Mean     =  1686 
 3.059 ±Sigma    = 48.95 
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